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Figure S2
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Figure S3
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Figure S4

BRCA
Basal - LowHRD - High HRD

1.00
0.75
0.50 e

0.25

Survival probability

0.00 { P =0.0434
0 60 120 180 240 300
Time(Months)

Number at risk
LowHRB' 7119 4 2 2 0

HighHRD{ 91 26 4 2 1 0
0 60 120 180 240 300
Time(Months)
ESCA

ESCC - LowHRD = High HRD

1.00
0.75
0.25

0.00 1 P =0.0218

Survival probability
o
o
o

0 24 48
Time(Months)
Number at risk
LowHRD| 15 6 2
HighHRD{ 62 5 0
0 24 48
Time(Months)
HNSC

HPV+ < |LowHRD = High HRD
1.00
S ———

0.00 {P =0.0287

Survival probability
o
o
o

0 36 72
Time(Months)
Number at risk
LowHRD 57 20 4
HighHRD{ 15 3 1
0 36 72
Time(Months)
SARC

DDLPS < LowHRD = High HRD

1.00 ]
=
®
S
5 050
S
s 025
@
0.00 { P =0.0077
0 36 72 108 144
Time(Months)
Number at risk
LowHRD{ 10 6 2 0 0
HighHRD; 34 10 4 1 0
0 36 72 108 144
Time(Months)

COAD
CIN = LowHRD = High HRD

0.75
0.50

0.25

Survival probability
2
o

0.00 {P_=0.0087

0 36 72 108 144
Time(Months)
Number at risk
LowHRD) 56 13 4 2 0
HighHRD{162 41 9 5 0
0 36 72 108 144
Time(Months)
GBM

IDHwt - Low HRD - High HRD

1.00
2
Z 075
[
S
5 050
E
S 025
=
(7]
0.00 { P =0.0429
0 24 48
Time(Months)
Number at risk
LowHRD| 51 2 0
HighHRD|{ 53 6 1
0 24 48
Time(Months)
LGG

IDHmut-non-codel < Low HRD = High HRD

1.00
2
Z 075
[
Qo
£ o050
S
S 025
>
%)
0.00 { P =0.0003
0 60 120 180
Time(Months)
Number at risk
LowHRD{175 32 8 0
HighHRD|{ 65 6 0 0
0 60 120 180
Time(Months)
SARC

LMS < LowHRD - High HRD

Survival probability
© o o =
N o N o
(&) o (4] o

Survival probability
o
(o))
o

0.00 {_P =0.0004

0 36 72 108 144 180
Time(Months)

Number at risk

LowHRD{ 48 28 10 4 1 0
HighHRD) 34 13 5 1 1 0

0 36 72 108 144 180
Time(Months)

COAD
GS - LowHRD = High HRD

1.00
2
3 075
[
S
5 050
s
s 025
>
(2]
0.00 { P =0.0122
0 36 72 108 144
Time(Months)
Number at risk
LowHRD| 15 6 6 2 0
HighHRD} 30 11 3 2 0
0 36 72 108 144
Time(Months)
HNSC
HPV- < LowHRD = High HRD
1.00
2
3 075
[
S
5 050
E
S 025
3
(%]
0.00 {P =0.0427
0 36 72 108 144 180
Time(Months)

Number at risk
LowHREl;m 38 12 7 5 1

HighHRD290 70 21 7 2 1
0 36 72 108 144 180
Time(Months)
READ

CIN = LowHRD = High HRD

1.00
2
Z 075
®©
8
5 050
s
S 025
>
(%}
0.00 {P_=0.0423
0 36 72 108
Time(Months)
Number at risk
LowHRD] 31 9 0 0
HighHRD{ 63 15 3 1
0 36 72 108
Time(Months)
UCEC

CN_LOW =+ LowHRD - High HRD

0.00 {P =10.0015

0 60 120 180
Time(Months)
Number at risk
LowHRD{ 40 0 0 0
HighHRD{102 28 1 1

0 60 120 180
Time(Months)



Figure S5
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